BHIFAISR

SF4ETA31H(B)
E 4z K £ 7ok 1 > r—%JL | HDCP ESVI RAVb
B B RIR  #RHE] 38 37 75 10.0 65.0 500
E BB )l EE 40 38 78 13.0 65.0 400
<]iva BEE HH 37 39 76 11.0 65.0 300
441 JII[E  BA 38 38 76 9.0 67.0 200
541 & FB 37 36 73 5.0 68.0 100
64z Fall 28| 40 38 78 10.0 68.0
74 A0 & 41 37 78 9.0 69.0 90
8L hE B’ 41 38 79 10.0 69.0
2 BH ExX 37 42 79 10.0 69.0
104% FEIF MR 39 36 75 5.0 70.0 75
114 Z8 EN 43 37 80 10.0 70.0
1241 A0 EX 41 38 79 9.0 70.0
131 mE BHEF 41 39 80 10.0 70.0
1441 K £ 41 39 80 10.0 70.0
154 FH BE 41 40 81 11.0 70.0
164 mx B4 41 35 76 5.0 71.0
1741 XA XE 39 38 77 6.0 71.0
181 BRE R 43 36 79 7.0 72.0
194 &R ZBA 38 38 76 3.0 73.0
20131 AXH EE 45 38 83 9.0 74.0 75
2141 wE ER 41 40 81 7.0 74.0
2241 =H KFA 42 42 84 10.0 74.0
2313 B - 42 42 84 10.0 74.0
24431 B REA 39 45 84 10.0 74.0
2541 IR BWE 38 39 77 2.0 75.0
2613z T & 42 40 82 7.0 75.0
271 hi BEA 44 44 88 13.0 75.0
28131 Kk —Al 42 44 86 11.0 75.0
29131 T = 43 36 79 3.0 76.0
301 gl FRX 43 42 85 9.0 76.0 75
3141 =Y 45 44 89 13.0 76.0
3213 BA EH 38 40 78 1.0 77.0
33 EXk FX 44 40 84 7.0 77.0
34431 ZE2 #&N 46 44 90 13.0 77.0
351 HH B 42 46 88 11.0 77.0




ABIHFALSR

SF4E7R318(B)

E 1z K 4 7ok 14 > k—#4JL | HDCP Tk RAVb
361 R RAXER 43 42 85 7.0 78.0

3741 e B 43 43 86 8.0 78.0

381 iE S 43 44 87 9.0 78.0

39fiL TH R 45 44 89 10.0 79.0

401z A IEE 43 39 82 2.0 80.0 75
4141 A BAF 46 47 93 13.0 80.0

4241 F OERX 52 40 92 10.0 82.0

431 = NS 48 44 92 10.0 82.0

44451 hE ER 43 44 87 5.0 82.0

BBE HE ] 44 52 96 13.0 83.0 120
46131 E E= 51 48 99 10.0 89.0

N R R =X

N R A% =

N R RN 8-

N R wea Fm]

N R RH E=

N R ZKR FH




